Contractor Information

Example

Vendor Number:		
Vendor Name:		General Mechanical
		2701 S. J. St.
Vendor Address:		Tacoma, WA 98409
Spec No:	PW22-0039F	
Contract No:		
PO No:		
	South Yakima Ave Traffic Signal	
Description:	Improvements	
Inspector:		Bill Billings
Payment Period Thru:		30

Prepare the bid tabs on "BIDTAB" worksheet.

Unfreeze panes and copy/paste the complete bid tab to this sheet and hide unnecessary rows and columns to fit on one page.

Combined Master Bid Tab (002) PAGE 2 OF 20

City of Tacoma Engineering Division Periodic Payment Estimate No. 01

Payment Period: x/x/xxxx to x/x/xxxx

PAYMENT TO:,

PROJECT NO: Specification No: PW22-0039F / Contract No: / PO Number:

DESCRIPTION: South Yakima Ave Traffic Signal Improvements

Item	Description	Unit	Tax	Original Contract Quantity	Quantity to Date	Unit Price	Amount To Date	Previous Est.	Present Est.	Authorized Project Limit
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
R1	Remove Existing Pavement, Type I Class A8, per square yard	SY		400.00	0.00	\$14.10	\$0.00	\$0.00	\$0.00	\$5,640.00
R2	Remove Existing Pavement, Type I Class C6, per square yard	SY		380.00	0.00	\$2.50	\$0.00	\$0.00	\$0.00	\$950.00
R3	Remove Curb, per linear foot	LF		570.00	0.00	\$6.60	\$0.00	\$0.00	\$0.00	\$3,762.00
R4	Recycled Concrete Aggregate, per ton	TN		320.00	0.00	\$10.80	\$0.00	\$0.00	\$0.00	\$3,456.00
R5	Planing Bituminous Pavement, per square yard	SY		2,470.00	0.00	\$9.30	\$0.00	\$0.00	\$0.00	\$22,971.00
R6	Fiber Reinforced HMA CL 1/2" PG 58H-22, per ton	TN		420.00	0.00	\$224.90	\$0.00	\$0.00	\$0.00	\$94,458.00
R7	Temporary Pavement Patch, per ton	TN		50.00	0.00	\$97.90	\$0.00	\$0.00	\$0.00	\$4,895.00
R8	Adjust Existing Catch Basin, Furnish New Frame and Grate, p	EA		7.00	0.00	\$1,080.60	\$0.00	\$0.00	\$0.00	\$7,564.20
R9	Adjust Existing Manhole, Furnish New Frame and Cover, per	EA		5.00	0.00	\$1,527.70	\$0.00	\$0.00	\$0.00	\$7,638.50
R10	Adjust Existing Valve Chamber to Grade, per each	EA		10.00	0.00	\$478.00	\$0.00	\$0.00	\$0.00	\$4,780.00
R11	Cement Conc. Traffic Curb and Gutter, per linear foot	LF		590.00	0.00	\$35.80	\$0.00	\$0.00	\$0.00	\$21,122.00
R12	Cement Conc. Driveway Entrance, per square yard	SY		27.00	0.00	\$108.00	\$0.00	\$0.00	\$0.00	\$2,916.00
R13	Chain Link Fence Type 4, per linear foot	LF		40.00	0.00	\$62.20	\$0.00	\$0.00	\$0.00	\$2,488.00
R14	Poured Monument, per each	EA		3.00	0.00	\$982.90	\$0.00	\$0.00	\$0.00	\$2,948.70
R15	Cement Conc. Sidewalk, per square yard	SY		190.00	0.00	\$78.00	\$0.00	\$0.00	\$0.00	\$14,820.00
R16	Cement Conc. Curb Ramp , per each	EA		16.00	0.00	\$2,276.30	\$0.00	\$0.00	\$0.00	\$36,420.80
R17	Plastic Line, per linear foot	LF		260.00	0.00	\$11.20	\$0.00	\$0.00	\$0.00	\$2,912.00
R18	Plastic Bike Lane Skip Line, per linear foot	LF		40.00	0.00	\$11.20	\$0.00	\$0.00	\$0.00	\$448.00
R19	Plastic Bike Lane Line, per linear foot	LF		120.00	0.00	\$11.20	\$0.00	\$0.00	\$0.00	\$1,344.00
R20	Plastic Wide Lane Line, per linear foot	LF		120.00	0.00	\$11.20	\$0.00	\$0.00	\$0.00	\$1,344.00
R21	Plastic Stop Line, per linear foot	LF		260.00	0.00	\$11.20	\$0.00	\$0.00	\$0.00	\$2,912.00

Combined Master Bid Tab (002)

3

City of Tacoma Engineering Division Periodic Payment Estimate No. 01

Payment Period: x/x/xxxx to x/x/xxxx

PAYMENT TO:,

PROJECT NO: Specification No: PW22-0039F / Contract No: / PO Number:

DESCRIPTION: South Yakima Ave Traffic Signal Improvements

Item	Description	Unit	Tax	Original Contract Quantity	Quantity to Date	Unit Price	Amount To Date	Previous Est.	Present Est.	Authorized Project Limit
R22	Plastic Crosswalk Line, per linear foot	LF		1,600.00	0.00		\$0.00	\$0.00	\$0.00	\$10,240.00
R23	Painted Curb, per linear foot	LF		180.00	0.00		\$0.00	\$0.00	\$0.00	\$702.00
0	SubTotal, Group R Unit Bit Item Nos. R1 - R23	0		0.00	0.00		\$0.00	\$0.00	\$0.00	\$0.00
0	0	0		0.00	0.00		\$0.00	\$0.00	\$0.00	\$0.00
R24	Field Adjustment, by force account	Est		1.00	0.00	' '	\$0.00	\$0.00	\$0.00	\$10,000.00
R25	Roadside Restoration, by Force Account	Est		1.00	0.00	. ,	\$0.00	\$0.00	\$0.00	\$10,000.00
0	Total Group R	0		0.00	0.00		\$0.00	\$0.00	\$0.00	\$0.00
0	0	0		0.00	0.00		\$0.00	\$0.00	\$0.00	\$0.00
ımp Suı	0	0		0.00	0.00		\$0.00	\$0.00	\$0.00	\$0.00
L1	SPCC Plan, lump sum	LS		1.00	0.00	'	\$0.00	\$0.00	\$0.00	\$311.10
L2	Mobilization, lump sum	LS		1.00	0.00	\$215,118.40	\$0.00	\$0.00	\$0.00	\$215,118.40
L3	Project Temporary Traffic Control, lump sum	LS		1.00	0.00	\$113,980.60	\$0.00	\$0.00	\$0.00	\$113,980.60
L4	Clearing and Grubbing, lump sum	LS		1.00	0.00	\$6,967.60	\$0.00	\$0.00	\$0.00	\$6,967.60
L5	Subgrade Maintenance and Protection, lump sum	LS		1.00	0.00	\$17,154.50	\$0.00	\$0.00	\$0.00	\$17,154.50
L6	Erosion Control and Water Pollution Prevention, lump sum	LS		1.00	0.00	\$7,173.10	\$0.00	\$0.00	\$0.00	\$7,173.10
L7	Stormwater Pollution Prevention Plan (SWPPP), lump sum	LS		1.00	0.00	\$311.10	\$0.00	\$0.00	\$0.00	\$311.10
L8	Traffic Signal Modification at S Yakima Avenue and S 72nd St	LS		1.00	0.00	\$185,500.30	\$0.00	\$0.00	\$0.00	\$185,500.30
L9	Traffic Signal Modification at S Yakima Avenue and S 84th St	LS		1.00	0.00	\$491,755.70	\$0.00	\$0.00	\$0.00	\$491,755.70
L10	Traffic Signal Modification at S Yakima Avenue and S 96th St	LS		1.00	0.00	\$209,896.50	\$0.00	\$0.00	\$0.00	\$209,896.50
0	Total Group L Bid Items Nos. L1 - L11	0		0.00	0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
0	0	0		0.00	0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
#REF!	#REF!	#REF!		#REF!	0.00	#REF!	#REF!	\$0.00	#REF!	#REF!
								·		
	SUB-TOTAL - Bid Items						#REF!	\$0.00	#REF!	#REF!
	CHANGE ORDERS									
RFC#										
					0.00	\$0.00	\$0.00	\$0.00	\$0.00	
					0.00	\$0.00	<u>\$0.00</u>	<u>\$0.00</u>	<u>\$0.00</u>	

Combined Master Bid Tab (002)

4

City of Tacoma Engineering Division Periodic Payment Estimate No. 01

Payment Period: x/x/xxxx to x/x/xxxx

PAYMENT TO:,

PROJECT NO: Specification No: PW22-0039F / Contract No: / PO Number:

DESCRIPTION: South Yakima Ave Traffic Signal Improvements

Item	Description	Unit	Tax	Original Contract Quantity	Quantity to Date	Unit Price	Amount To Date	Previous Est.	Present Est.	Authorized Project Limit
	SUB-TOTAL - Change Orders						\$0.00	\$0.00	\$0.00	
	GRAND TOTALS						#REF!	\$0.00	#REF!	#REF!

Informational Only-Taxable Totals #REF! #REF! #REF!

Description: South Yakima Ave Traffic Signal Improvements

Specification No.: PW22-0039F

Bid Opening: 8/2/2022

					NEER'S MATE		Bidder Construction, Inc.	#2 Bio Global Contra	
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
R1	Remove Existing Pavement, Type I Class A8, per square yard	SY	400	\$35.00	\$14,000.00	\$14.10	\$5,640.00	\$54.00	\$21,600.00
R2	Remove Existing Pavement, Type I Class C6, per square yard	SY	380	\$30.00	\$11,400.00	\$2.50	\$950.00	\$90.00	\$34,200.00
R3	Remove Curb, per linear foot	LF	570	\$30.00	\$17,100.00	\$6.60	\$3,762.00	\$15.00	\$8,550.00
R4	Recycled Concrete Aggregate, per ton	TN	320	\$50.00	\$16,000.00	\$10.80	\$3,456.00	\$80.00	\$25,600.00
R5	Planing Bituminous Pavement, per square yard	SY	2,470	\$8.00	\$19,760.00	\$9.30	\$22,971.00	\$12.00	\$29,640.00
R6	Fiber Reinforced HMA CL 1/2" PG 58H-22, per ton	TN	420	\$250.00	\$105,000.00	\$224.90	\$94,458.00	\$245.00	\$102,900.00
R7	Temporary Pavement Patch, per ton	TN	50	\$250.00	\$12,500.00	\$97.90	\$4,895.00	\$100.00	\$5,000.00
R8	Adjust Existing Catch Basin, Furnish New Frame and Grate, per each	EA	7	\$750.00	\$5,250.00	\$1,080.60	\$7,564.20	\$1,000.00	\$7,000.00
R9	Adjust Existing Manhole, Furnish New Frame and Cover, per each	EA	5	\$1,000.00	\$5,000.00	\$1,527.70	\$7,638.50	\$2,000.00	\$10,000.00
R10	Adjust Existing Valve Chamber to Grade, per each	EA	10	\$500.00	\$5,000.00	\$478.00	\$4,780.00	\$1,000.00	\$10,000.00
R11	Cement Conc. Traffic Curb and Gutter, per linear foot	LF	590	\$40.00	\$23,600.00	\$35.80	\$21,122.00	\$100.00	\$59,000.00
R12	Cement Conc. Driveway Entrance, per square yard	SY	27	\$100.00	\$2,700.00	\$108.00	\$2,916.00	\$90.00	\$2,430.00
R13	Chain Link Fence Type 4, per linear foot	LF	40	\$200.00	\$8,000.00	\$62.20	\$2,488.00	\$100.00	\$4,000.00
R14	Poured Monument, per each	EΑ	3	\$500.00	\$1,500.00	\$982.90	\$2,948.70	\$2,500.00	\$7,500.00
R15	Cement Conc. Sidewalk, per square yard	SY	190	\$70.00	\$13,300.00	\$78.00	\$14,820.00	\$135.00	\$25,650.00
R16	Cement Conc. Curb Ramp , per each	EΑ	16	\$2,500.00	\$40,000.00	\$2,276.30	\$36,420.80	\$2,800.00	\$44,800.00
R17	Plastic Line, per linear foot	LF	260	\$5.00	\$1,300.00	\$11.20	\$2,912.00	\$10.00	\$2,600.00
R18	Plastic Bike Lane Skip Line, per linear foot	LF	40	\$5.00	\$200.00	\$11.20	\$448.00	\$10.00	\$400.00
R19	Plastic Bike Lane Line, per linear foot	LF	120	\$5.00	\$600.00	\$11.20	\$1,344.00	\$10.00	\$1,200.00
R20	Plastic Wide Lane Line, per linear foot	LF	120	\$5.00	\$600.00	\$11.20	\$1,344.00	\$10.00	\$1,200.00
R21	Plastic Stop Line, per linear foot	LF	260	\$5.00	\$1,300.00	\$11.20	\$2,912.00	\$10.00	\$2,600.00
R22	Plastic Crosswalk Line, per linear foot	LF	1,600	\$5.00	\$8,000.00	\$6.40	\$10,240.00	\$6.00	\$9,600.00
R23	Painted Curb, per linear foot	LF	180	\$2.50	\$450.00	\$3.90	\$702.00	\$4.00	\$720.00
	SubTotal, Group R Unit Bit Item Nos. R1 - R23				\$312,560.00		\$256,732.20		\$416,190.00
R24	Field Adjustment, by force account	Est	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
R25	Roadside Restoration, by Force Account	Est	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00

Combined Master Bid Tab (002) PAGE 6 OF 20

Description: South Yakima Ave Traffic Signal Improvements

Specification No.: PW22-0039F

Bid Opening: 8/2/2022

					ENGINEER'S ESTIMATE		Bidder Construction, Inc.	#2 Bidder Global Contractors LLC	
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
	Total Group R				\$332,560.00		\$276,732.20		\$436,190.00

Combined Master Bid Tab (002) PAGE 7 OF 20

Description: South Yakima Ave Traffic Signal Improvements

Specification No.: PW22-0039F

Bid Opening: 8/2/2022

					IEER'S MATE		Bidder Construction, Inc.		idder tractors LLC
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
Group L	.: Lump Sum Bid Items								
L1	SPCC Plan, lump sum	LS	1	\$500.00	\$500.00	\$311.10	\$311.10	\$2,500.00	\$2,500.00
L2	Mobilization, lump sum	LS	1	\$70,000.00	\$70,000.00	\$215,118.40	\$215,118.40	\$100,000.00	\$100,000.00
L3	Project Temporary Traffic Control, lump sum	LS	1	\$65,000.00	\$65,000.00	\$113,980.60	\$113,980.60	\$100,000.00	\$100,000.00
L4	Clearing and Grubbing, lump sum	LS	1	\$10,000.00	\$10,000.00	\$6,967.60	\$6,967.60	\$2,500.00	\$2,500.00
L5	Subgrade Maintenance and Protection, lump sum	LS	1	\$5,000.00	\$5,000.00	\$17,154.50	\$17,154.50	\$2,500.00	\$2,500.00
L6	Erosion Control and Water Pollution Prevention, lump sum	LS	1	\$1,000.00	\$1,000.00	\$7,173.10	\$7,173.10	\$2,500.00	\$2,500.00
L7	Stormwater Pollution Prevention Plan (SWPPP), lump sum	LS	1	\$500.00	\$500.00	\$311.10	\$311.10	\$2,500.00	\$2,500.00
L8	Traffic Signal Modification at S Yakima Avenue and S 72nd Street, Lump Sum	LS	1	\$175,000.00	\$175,000.00	\$185,500.30	\$185,500.30	\$228,000.00	\$228,000.00
L9	Traffic Signal Modification at S Yakima Avenue and S 84th Street, Lump Sum	LS	1	\$420,000.00	\$420,000.00	\$491,755.70	\$491,755.70	\$440,000.00	\$440,000.00
L10	Traffic Signal Modification at S Yakima Avenue and S 96th Street, Lump Sum	LS	1	\$180,000.00	\$180,000.00	\$209,896.50	\$209,896.50	\$215,000.00	\$215,000.00
L11	Permanent Signing, lump sum	LS	1	\$6,000.00	\$6,000.00	\$207.40	\$207.40	\$7,000.00	\$7,000.00
	Total Group L Bid Items Nos. L1 - L11			. ,	\$933,000.00		\$1,248,376.30		\$1,102,500.00
	Group R: Roadway Bid Items GRAND TOTAL				\$332,560.00		\$276,732.20		\$436,190.00
	Group L: Lump Sum Bid Items GRAND TOTAL				\$933,000.00		\$1,248,376.30		\$1,102,500.00
	TOTAL BASE BID				\$1,265,560.00		\$1,525,108.50		\$1,538,690.00
	DBE = LESS SALES TAX & FA				\$1,245,560.00		\$1,505,108.50		\$1,518,690.00
	BASE BID + FA - SALES TAX				\$1,265,560.00		\$1,525,108.50		\$1,538,690.00

Combined Master Bid Tab (002) PAGE 8 OF 20

Description: South Yakima Ave Traffic Signal Improvements

Specification No.: PW22-0039F

Bid Opening: 8/2/2022

				NEER'S MATE	Low E Axum General C	Bidder	#2 B Global Cont	
Item	Description	Unit Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount

^{*} Correction made to Bid Item Total and/or Bid Total Amount

Combined Master Bid Tab (002) PAGE 9 OF 20

Description: South Yakima Ave Traffic Signal Improvements

Specification No.: PW22-0039F

Bid Opening: 8/2/2022

				#3 Bio Active Const		#4 Bi Sound Pacific Co		#5 Bidder Northwest Cascade, Inc.	
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
R1	Remove Existing Pavement, Type I Class A8, per square yard	SY	400	\$39.00	\$15,600.00	\$58.00	\$23,200.00	\$27.50	\$11,000.00
R2	Remove Existing Pavement, Type I Class C6, per square yard	SY	380	\$33.00	\$12,540.00	\$40.00	\$15,200.00	\$29.50	\$11,210.00
R3	Remove Curb, per linear foot	LF	570	\$9.00	\$5,130.00	\$10.00	\$5,700.00	\$5.50	\$3,135.00
R4	Recycled Concrete Aggregate, per ton	TN	320	\$36.00	\$11,520.00	\$45.00	\$14,400.00	\$29.00	\$9,280.00
R5	Planing Bituminous Pavement, per square yard	SY	2,470	\$10.00	\$24,700.00	\$11.00	\$27,170.00	\$6.00	\$14,820.00
R6	Fiber Reinforced HMA CL 1/2" PG 58H-22, per ton	TN	420	\$205.00	\$86,100.00	\$250.00	\$105,000.00	\$229.00	\$96,180.00
R7	Temporary Pavement Patch, per ton	TN	50	\$300.00	\$15,000.00	\$325.00	\$16,250.00	\$345.00	\$17,250.00
R8	Adjust Existing Catch Basin, Furnish New Frame and Grate, per each	EA	7	\$650.00	\$4,550.00	\$1,300.00	\$9,100.00	\$1,400.00	\$9,800.00
	Adjust Existing Manhole, Furnish New Frame and Cover, per								
R9	each	EA	5	\$1,100.00	\$5,500.00	\$1,500.00	\$7,500.00	\$1,500.00	\$7,500.00
R10	Adjust Existing Valve Chamber to Grade, per each	EΑ	10	\$650.00	\$6,500.00	\$800.00	\$8,000.00	\$850.00	\$8,500.00
R11	Cement Conc. Traffic Curb and Gutter, per linear foot	LF	590	\$42.00	\$24,780.00	\$48.00	\$28,320.00	\$48.00	\$28,320.00
R12	Cement Conc. Driveway Entrance, per square yard	SY	27	\$250.00	\$6,750.00	\$110.00	\$2,970.00	\$166.00	\$4,482.00
R13	Chain Link Fence Type 4, per linear foot	LF	40	\$60.00	\$2,400.00	\$115.00	\$4,600.00	\$63.00	\$2,520.00
R14	Poured Monument, per each	EΑ	3	\$1,150.00	\$3,450.00	\$900.00	\$2,700.00	\$1,900.00	\$5,700.00
R15	Cement Conc. Sidewalk, per square yard	SY	190	\$130.00	\$24,700.00	\$67.00	\$12,730.00	\$116.00	\$22,040.00
R16	Cement Conc. Curb Ramp , per each	EA	16	\$2,900.00	\$46,400.00	\$2,800.00	\$44,800.00	\$3,700.00	\$59,200.00
R17	Plastic Line, per linear foot	LF	260	\$11.00	\$2,860.00	\$11.00	\$2,860.00	\$12.00	\$3,120.00
R18	Plastic Bike Lane Skip Line, per linear foot	LF	40	\$11.00	\$440.00	\$11.00	\$440.00	\$12.00	\$480.00
R19	Plastic Bike Lane Line, per linear foot	LF	120	\$11.00	\$1,320.00	\$11.00	\$1,320.00	\$12.00	\$1,440.00
R20	Plastic Wide Lane Line, per linear foot	LF	120	\$11.00	\$1,320.00	\$11.00	\$1,320.00	\$12.00	\$1,440.00
R21	Plastic Stop Line, per linear foot	LF	260	\$11.00	\$2,860.00	\$11.00	\$2,860.00	\$12.00	\$3,120.00
R22	Plastic Crosswalk Line, per linear foot	LF	1,600	\$6.00	\$9,600.00	\$7.00	\$11,200.00	\$7.00	\$11,200.00
R23	Painted Curb, per linear foot	LF	180	\$4.00	\$720.00	\$4.00	\$720.00	\$4.00	\$720.00
	SubTotal, Group R Unit Bit Item Nos. R1 - R23				\$314,740.00		\$348,360.00		\$332,457.00
R24	Field Adjustment, by force account	Est	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
R25	Roadside Restoration, by Force Account	Est	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00

Combined Master Bid Tab (002) PAGE 10 OF 20

Description: South Yakima Ave Traffic Signal Improvements

Specification No.: PW22-0039F

Bid Opening: 8/2/2022

				#3 Bidder Active Construction Inc.			idder onstruction, LLC	#5 Bidder Northwest Cascade, Inc.	
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
	Total Group R				\$334,740.00		\$368,360.00		\$352,457.00

Combined Master Bid Tab (002) PAGE 11 OF 20

Description: South Yakima Ave Traffic Signal Improvements

Specification No.: PW22-0039F

Bid Opening: 8/2/2022

				#3 B	idder	#4 B	idder	#5 B	idder
				Active Cons	truction Inc.	Sound Pacific C	onstruction, LLC	Northwest C	ascade, Inc.
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
Group L	.: Lump Sum Bid Items								
L1	SPCC Plan, lump sum	LS	1	\$150.00	\$150.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00
L2	Mobilization, lump sum	LS	1	\$149,727.02	\$149,727.02	\$110,000.00	\$110,000.00	\$141,357.00	\$141,357.00
L3	Project Temporary Traffic Control, lump sum	LS	1	\$250,000.00	\$250,000.00	\$130,000.00	\$130,000.00	\$213,000.00	\$213,000.00
L4	Clearing and Grubbing, lump sum	LS	1	\$12,500.00	\$12,500.00	\$10,000.00	\$10,000.00	\$45,500.00	\$45,500.00
L5	Subgrade Maintenance and Protection, lump sum	LS	1	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	\$9,500.00	\$9,500.00
L6	Erosion Control and Water Pollution Prevention, lump sum	LS	1	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	\$25,000.00	\$25,000.00
L7	Stormwater Pollution Prevention Plan (SWPPP), lump sum	LS	1	\$1.00	\$1.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00
L8	Traffic Signal Modification at S Yakima Avenue and S 72nd Street, Lump Sum	LS	1	\$165,961.98	\$165,961.98	\$190,000.00	\$190,000.00	\$207,000.00	\$207,000.00
	Traffic Signal Modification at S Yakima Avenue and S 84th			ψ100,001.00	ψ100,001.00	ψ.00,000.00	ψ100,000.00	Ψ201,000.00	Ψ201,000.00
L9	Street, Lump Sum	LS	1	\$450,000.00	\$450,000.00	\$525,000.00	\$525,000.00	\$549,000.00	\$549,000.00
	Traffic Signal Modification at S Yakima Avenue and S 96th								
L10	Street, Lump Sum	LS	1	\$200,000.00	\$200,000.00	\$255,000.00	\$255,000.00	\$261,000.00	\$261,000.00
L11	Permanent Signing, lump sum	LS	1	\$3,500.00	\$3,500.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00
	Total Group L Bid Items Nos. L1 - L11				\$1,245,840.00		\$1,232,000.00		\$1,462,357.00
	Group R: Roadway Bid Items GRAND TOTAL				\$334,740.00		\$368,360.00		\$352,457.00
	Group L: Lump Sum Bid Items GRAND TOTAL				\$1,245,840.00		\$1,232,000.00		\$1,462,357.00
	TOTAL BASE BID				\$1,580,580.00		\$1,600,360.00		\$1,814,814.00
	DBE = LESS SALES TAX & FA				\$1,560,580.00		\$1,580,360.00		\$1,794,814.00
	BASE BID + FA - SALES TAX				\$1,580,580.00		\$1,600,360.00		\$1,814,814.00

Combined Master Bid Tab (002) PAGE 12 OF 20

Description: South Yakima Ave Traffic Signal Improvements

Specification No.: PW22-0039F

Bid Opening: 8/2/2022

			#3 Bidder Active Construction Inc.		#4 Bi Sound Pacific C	idder onstruction, LLC	#5 Bidder Northwest Cascade, Inc.	
Item	Description	Unit Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount

^{*} Correction made to Bid Item Total and/or Bid Total Amount

Combined Master Bid Tab (002) PAGE 13 OF 20

Description: South Yakima Ave Traffic Signal Improvements

Specification No.: PW22-0039F

Bid Opening: 8/2/2022

				#6 Bio Titan Earth	
Item	Description	Unit	Quantity	Unit Price	Amount
R1	Remove Existing Pavement, Type I Class A8, per square yard	SY	400	\$50.00	\$20,000.00
R2	Remove Existing Pavement, Type I Class C6, per square yard	SY	380	\$35.00	\$13,300.00
R3	Remove Curb, per linear foot	LF	570	\$22.00	\$12,540.00
R4	Recycled Concrete Aggregate, per ton	TN	320	\$50.00	\$16,000.00
R5	Planing Bituminous Pavement, per square yard	SY	2,470	\$10.00	\$24,700.00
R6	Fiber Reinforced HMA CL 1/2" PG 58H-22, per ton	TN	420	\$300.00	\$126,000.00
R7	Temporary Pavement Patch, per ton	TN	50	\$385.00	\$19,250.00
R8	Adjust Existing Catch Basin, Furnish New Frame and Grate, per each	EA	7	\$1,100.00	\$7,700.00
R9	Adjust Existing Manhole, Furnish New Frame and Cover, per each	EA	5	\$1,500.00	\$7,500.00
R10	Adjust Existing Valve Chamber to Grade, per each	EA	10	\$400.00	\$4,000.00
R11	Cement Conc. Traffic Curb and Gutter, per linear foot	LF	590	\$50.00	\$29,500.00
R12	Cement Conc. Driveway Entrance, per square yard	SY	27	\$150.00	\$4,050.00
R13	Chain Link Fence Type 4, per linear foot	LF	40	\$50.00	\$2,000.00
R14	Poured Monument, per each	EA	3	\$1,200.00	\$3,600.00
R15	Cement Conc. Sidewalk, per square yard	SY	190	\$100.00	\$19,000.00
R16	Cement Conc. Curb Ramp , per each	EA	16	\$3,750.00	\$60,000.00
R17	Plastic Line, per linear foot	LF	260	\$11.00	\$2,860.00
R18	Plastic Bike Lane Skip Line, per linear foot	LF	40	\$13.00	\$520.00
R19	Plastic Bike Lane Line, per linear foot	LF	120	\$11.00	\$1,320.00
R20	Plastic Wide Lane Line, per linear foot	LF	120	\$11.00	\$1,320.00
R21	Plastic Stop Line, per linear foot	LF	260	\$11.00	\$2,860.00
R22	Plastic Crosswalk Line, per linear foot	LF	1,600	\$6.00	\$9,600.00
R23	Painted Curb, per linear foot	LF	180	\$4.00	\$720.00
	SubTotal, Group R Unit Bit Item Nos. R1 - R23				\$388,340.00
R24	Field Adjustment, by force account	Est	1	\$10,000.00	\$10,000.00
R25	Roadside Restoration, by Force Account	Est	1	\$10,000.00	\$10,000.00

Combined Master Bid Tab (002) PAGE 14 OF 20

Description: South Yakima Ave Traffic Signal Improvements

Specification No.: PW22-0039F

Bid Opening: 8/2/2022

				#6 B Titan Earth	idder nwork, LLC
Item	Description	Unit	Quantity	Unit Price	Amount
	Total Group R				\$408,340.00

Combined Master Bid Tab (002) PAGE 15 OF 20

Description: South Yakima Ave Traffic Signal Improvements

Specification No.: PW22-0039F

Bid Opening: 8/2/2022

				#6 B Titan Earth	
Item	Description	Unit	Quantity	Unit Price	Amount
Group I	.: Lump Sum Bid Items				
L1	SPCC Plan, lump sum	LS	1	\$2,500.00	\$2,500.00
L2	Mobilization, lump sum	LS	1	\$190,000.00	\$190,000.00
L3	Project Temporary Traffic Control, lump sum	LS	1	\$179,000.00	\$179,000.00
L4	Clearing and Grubbing, lump sum	LS	1	\$20,000.00	\$20,000.00
L5	Subgrade Maintenance and Protection, lump sum	LS	1	\$10,000.00	\$10,000.00
L6	Erosion Control and Water Pollution Prevention, lump sum	LS	1	\$10,000.00	\$10,000.00
L7	Stormwater Pollution Prevention Plan (SWPPP), lump sum	LS	1	\$2,500.00	\$2,500.00
L8	Traffic Signal Modification at S Yakima Avenue and S 72nd Street, Lump Sum	LS	1	\$211,456.00	\$211,456.00
L9	Traffic Signal Modification at S Yakima Avenue and S 84th Street, Lump Sum	LS	1	\$650,000.00	\$650,000.00
L10	Traffic Signal Modification at S Yakima Avenue and S 96th Street, Lump Sum	LS	1	\$250,000.00	\$250,000.00
L11	Permanent Signing, lump sum	LS	1	\$7,500.00	\$7,500.00
	Total Group L Bid Items Nos. L1 - L11			Ţ.,GGG.GG	\$1,532,956.00
	Group R: Roadway Bid Items GRAND TOTAL				\$408,340.00
	Group L: Lump Sum Bid Items GRAND TOTAL				\$1,532,956.00
	TOTAL BASE BID				\$1,941,296.00
	DBE = LESS SALES TAX & FA				\$1,921,296.00
	BASE BID + FA - SALES TAX				\$1,941,296.00
			1		

Combined Master Bid Tab (002) PAGE 16 OF 20

Description: South Yakima Ave Traffic Signal Improvements

Specification No.: PW22-0039F

Bid Opening: 8/2/2022

			#6 Bidder Titan Earthwork, LLC		
Item	Description	Unit Quantity	Unit Price	Amount	

^{*} Correction made to Bid Item Total and/or Bid Total Amount

Combined Master Bid Tab (002) PAGE 17 OF 20

City of Tacoma Construction Division Inspector's Payment Folder

Description: South Yakima Ave Traffic Signal Improvements

Contractor: Inspector:

DATE WORK COMPLETED TO

Payment Period Thru: th of the month				/ / EST NO 1	/ / EST NO 2	/ / EST NO 3	/ / EST NO 4	/ / EST NO 5	/ / EST NO 6		
Item Description	Unit	Quantity	Unit Price	Amount	Amount	Amount	Amount	Amount	Amount		
#### #REF!	#REF!	#REF!	#REF!							###	#REF!
#### #REF!	#REF!	#REF!	#REF!							###	#REF!
#### #REF!	#REF!	#REF!	#REF!							###	#REF!
#### #REF!	#REF!	#REF!	#REF!							###	#REF!
#### #REF!	#REF!	#REF!	#REF!							###	#REF!
#### #REF!	#REF!	#REF!	#REF!							###	#REF!
#### #REF!	#REF!	#REF!	#REF!							###	#REF!
#### #REF!	#REF!	#REF!	#REF!							###	#REF!
#### #REF!	#REF!	#REF!	#REF!							###	#REF!
#### #REF!	#REF!	#REF!	#REF!							###	#REF!
#### #REF!	#REF!	#REF!	#REF!							###	#REF!
#### #REF!	#REF!	#REF!	#REF!							###	#REF!
#### #REF!	#REF!	#REF!	#REF!							###	#REF!
R1 Remove Existing Pavement, Type I Class A8, per square yard	d SY	400.00	\$14.10							R1	\$5,640.00
R2 yard	SY	380.00	\$2.50							R2	\$950.00
R3 Remove Curb, per linear foot	LF	570.00	\$6.60							R3	\$3,762.00
R4 Recycled Concrete Aggregate, per ton	TN	320.00	\$10.80							R4	\$3,456.00
R5 Planing Bituminous Pavement, per square yard	SY	2,470.00	\$9.30							R5	\$22,971.00
R6 Fiber Reinforced HMA CL 1/2" PG 58H-22, per ton	TN	420.00	\$224.90							R6	\$94,458.00
R7 Temporary Pavement Patch, per ton	TN	50.00	\$97.90							R7	\$4,895.00
Adjust Existing Catch Basin, Furnish New Frame and Grate, R8 per each	EA	7.00	\$1,080.60							R8	\$7,564.20

City of Tacoma Construction Division Inspector's Payment Folder

Description: South Yakima Ave Traffic Signal Improvements

Contractor: Inspector:

DATE WORK COMPLETED TO

Payment Period Thru: th of the month				/ / EST NO 1	/ / EST NO 2	/ / EST NO 3	/ / EST NO 4	/ / EST NO 5	/ / EST NO 6		
Item Description	Unit	Quantity	Unit Price	Amount	Amount	Amount	Amount	Amount	Amount		
Adjust Existing Manhole, Furnish New Frame and Cover, por R9 each	er EA	5.00	\$1,527.70							R9	\$7,638.50
R10 Adjust Existing Valve Chamber to Grade, per each	EA	10.00	\$478.00							R10	\$4,780.00
R11 Cement Conc. Traffic Curb and Gutter, per linear foot	LF	590.00	\$35.80							R11	\$21,122.00
R12 Cement Conc. Driveway Entrance, per square yard	SY	27.00	\$108.00							R12	\$2,916.00
R13 Chain Link Fence Type 4, per linear foot	LF	40.00	\$62.20							R13	\$2,488.00
R14 Poured Monument, per each	EA	3.00	\$982.90							R14	\$2,948.70
R15 Cement Conc. Sidewalk, per square yard	SY	190.00	\$78.00							R15	\$14,820.00
R16 Cement Conc. Curb Ramp , per each	EA	16.00	\$2,276.30							R16	\$36,420.80
R17 Plastic Line, per linear foot	LF	260.00	\$11.20							R17	\$2,912.00
R18 Plastic Bike Lane Skip Line, per linear foot	LF	40.00	\$11.20							R18	\$448.00
R19 Plastic Bike Lane Line, per linear foot	LF	120.00	\$11.20							R19	\$1,344.00
R20 Plastic Wide Lane Line, per linear foot	LF	120.00	\$11.20							R20	\$1,344.00
R21 Plastic Stop Line, per linear foot	LF	260.00	\$11.20							R21	\$2,912.00
R22 Plastic Crosswalk Line, per linear foot	LF	1,600.00	\$6.40							R22	\$10,240.00
R23 Painted Curb, per linear foot	LF	180.00	\$3.90							R23	\$702.00
0 SubTotal, Group R Unit Bit Item Nos. R1 - R23	0.00	0.00	\$0.00							0	\$0.00
0 0	.00 0.00	0.00	\$0.00							0	\$0.00
R24 Field Adjustment, by force account	Est	1.00	\$10,000.00							R24	\$10,000.00
R25 Roadside Restoration, by Force Account	Est	1.00	\$10,000.00							R25	\$10,000.00

City of Tacoma Construction Division Inspector's Payment Folder

Description: South Yakima Ave Traffic Signal Improvements

Contractor: Inspector:

Inspector:

DATE WORK COMPLETED TO

Payment Period Thru: th of the month

Payment Perio	d Thru: th of the month				/ / EST NO 1	/ / EST NO 2	/ / EST NO 3	/ / EST NO 4	/ / EST NO 5	/ / EST NO 6		
Item	Description	Unit	Quantity	Unit Price	Amount	Amount	Amount	Amount	Amount	Amount		
0 Total Grou	ıp R	0.00	0.00	\$0.00							0	\$0.00
0		0.00 0.00	0.00	\$0.00							0	\$0.00
ımp Su		0.00 0.00	0.00	\$0.00							np Sı	\$0.00
L1 SPCC Pla	n, lump sum	LS	1.00	\$311.10							L1	\$311.10
L2 Mobilization	on, lump sum	LS	1.00	\$215,118.40							L2	\$215,118.40
L3 Project Te	mporary Traffic Control, lump sum	LS	1.00	\$113,980.60							L3	\$113,980.60
L4 Clearing a	nd Grubbing, lump sum	LS	1.00	\$6,967.60							L4	\$6,967.60
L5 Subgrade	Maintenance and Protection, lump sum	LS	1.00	\$17,154.50							L5	\$17,154.50
L6 Erosion Co	ontrol and Water Pollution Prevention, lump	sum LS	1.00	\$7,173.10							L6	\$7,173.10
L7 Stormwate	er Pollution Prevention Plan (SWPPP), lump	sum LS	1.00	\$311.10							L7	\$311.10
L8 Street, Lur	mp Sum	LS	1.00	\$185,500.30							L8	\$185,500.30
L9 Street, Lur	mar iviodification at S Takima Avenue and S mp Sum	LS	1.00	\$491,755.70							L9	\$491,755.70
L10 Street, Lur	mar iviounication at 3 Takima Avenue and 3 s mp Sum	LS	1.00	\$209,896.50							L10	\$209,896.50
L11 Permanen	t Signing, lump sum	LS	1.00	\$207.40							L11	\$207.40
0 Total Grou	ıp L Bid Items Nos. L1 - L11	0.00	0.00	\$0.00							0	\$0.00

Date Verified			
Inspector's Initials			
Contractor's Initials			